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	(Multiply by 1000)
9kg = __g
5kg = __g
3kg = __g
17kg = __g
6kg = __g
83kg = __g

(Divide by 1000)
6300g = __kg
1500g =__kg
1300g = __kg
3400g =__kg
1330g = __kg 
500g = __ kg

(Multiply by 1000)
1.5 kg = __g
1.7kg = __g
6.3kg = __g
3.3kg = __g
0.5kg =__g
3.5kg = __g

	6kg = __g
5kg = __g
13kg = __g
51kg = __g
656kg = __g
333kg = __g

630g = __kg
150g =__kg
133g = __kg
345g =__kg
1133g = __kg 
503g = __ kg

6.5kg = __g
13.5kg = __g
64.3kg = __g
63.4kg = __g
10.5kg =__g
30.5kg = __g


	165kg = __g
535kg = __g
103kg = __g
551kg = __g
6306kg = __g
3043kg = __g

6006g = __kg
1560g =__kg
1053g = __kg
3045g =__kg
1103g = __kg 
5003g = __ kg

16.5kg = __g
133.5kg = __g
644.3kg = __g
663.3kg = __g
106.5kg =__g
300.5kg = __g



   

